Quiz 10 — MA16020 — February 16, 2018
Alden Bradford

1. (6 points) Let R be the region enclosed by y = gln(x),

xr = 4, and the z-axis. For each of the problems below,
R is rotated about the given line, generating an unknown
volume. For each problem, state whether the disk method
or the washer method should be used to find the volume,
and state whether the integral will be with respect to y or
with respect to . You do not need to set up the integral,
and you do not need to find the volume.

(a) The z-axis. (d) The line z = 4.
(b) The y-axis. (e) The line y = —3.
(¢) The line z = 1. (f) The line y = 10.

2. (4 points) Let R be the region enclosed by y = 2%, # =

1, x = 2, and the z-axis. Find the volume of the solid
generated by rotating R about the y-axis.



